6.2 Trigonometry short version

Name

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Find the exact value of the expression.

7m 51
1)cos[12 12] 1)

Identify a and f in the following expression which is the right side of the formula for cos (a - B).
2) cos (175°) cos (55°) +sin (175°) sin (55°) 2)

Write the expression as the cosine of an angle, knowing that the expression is the right side of the formula for
cos (a - B) with particular values for a and f.

3) cos [51—7;] cos [%] +sin [51—7;] sin [%] 3)

Find the exact value of the expression.
4) cos (170°) cos (50°) +sin (170°) sin (50°) 4)

Complete the identity.

5)cos@a=p)_, 5)
sin acsin 3
6) cos[X—%]:? 6)

Use the given information to find the exact value of the expression.

7)sina= %, a lies in quadrant II, and cos 3 = %, B lies in quadrantI  Find cos (a- ). 7)

Find the exact value by using a sum or difference identity.
8) sin 75° 8)

9) cos (135° +30°) 9)

Find the exact value of the expression.

10) sin 265° cos 25° - cos 265° sin 25° 10)

11) cos 20° cos 40° - sin 20° sin 40° 11)

12) cos DT gin T — cos K sin 2T 12)
18 9 9 18



Find the exact value by using a sum or difference identity.
13) sin 165°

Complete the identity.
14) cos (a+p)cos (a-B)="?

5) cos (a-3) —7

cos (a+p)

Verify the identity.
16) cos| x +%] =-sin X

17) cos(a - B) - cos(at+P) =2 sin a sin B

18)M=C0tﬁ—tana

cos a sin 3

Use the given information to find the exact value of the expression.

19) sina=- %, a lies in quadrant IV, and cos 3 = - —‘521, f lies in quadrant III
-B).

20) cosa=- %, a lies in quadrant III, and sin 3 = —“521, p lies in quadrant I
B).

Find the exact value by using a difference identity.
21) tan 105°

Use trigonometric identities to find the exact value.
tan 70° - tan (-50°)
1 +tan 70° tan (-50°)

Find the exact value under the given conditions.

23) cosa=-—, l<0(<7'(,' sin :-—“21,7'c< <3—T( Find tan (a +3).
) 25" 2 P 5 b 2 (oc+B)
Verify the identity.
24) ta x-|_tanx-1
4 1 +tan x

Rewrite the expression as a simplified expression containing one term.

.| 11w -11n -11n .| -11m
25) sin 3 -af cos +a| +cos s -af sin 3 +Qa

Find sin (a

Find cos (o +

13)

14)
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17)
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25)




Answer Key
Testname: TRIGONOMETRY 6.2 SHORT VERSION

Al

2
2) a=175° p =55°

1

T
3 —
) cos o

1
4) - =~
)2

5) cota cot B +1
6) %(—'\/5 COS X + sin x)

7) -14 +24~/21

125

8) ‘\/E(’\/E‘*' 1)
4
9) - ‘\/E(’\/§+ 1)
4

10) _ﬁ
2
1
11)5
12)l

13) «/E(ff— 1)

14) cos2 p- sin2 o
15 ) 1 + tan o tan §

- tan a tan 3
16) cos [X +%] = COS X COS % - sin x sin % = (cos x)(0) - (sin x)(1) = - sin x.

17) cos (o= B) - cos (a +B) = cos at cos B +sin a sin B - ( cos a cos B - sin a sin B) = 2 sin « sin .
cos(a+P) _cosacosPB-sinasinf _cosacosP __sinasinf _cosf _sina
cos o sin 3 cos o sin 3 cosasinfB  cosasinfp  sinf3  cosa

6+4f\/

25

8+3'\/_
25
21)-2-Af3
22) -Af3
23) 48+7A/21 —48+7A21
14 +24~021

18) =cotf-tana
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24) tan x - = tan x - tan 7t/4 _tanx-1
4 1+(tan x)(tanm/4) 1+tanx
NG

25
)2



